Fr -C
Please harve o go- ab comparing Jractions based, on their size.

Jack and Jane are tiling identical-sized walls. Jack has
tiled E of his walland Jane has tiled % ofher wall.
Who has tiled the larger area?’

“Jack has tiled more, because he has tiled g of the
wall, and Jane has only tiled % of the wall, % is

9,
greater than T
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I have tiled 2
of the wall.
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As yow carv see; both, have beerv scaled up
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‘Which is easier to compare?
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‘Place the following numbers on the numberline.’
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Filf in the missing symbols (<, > or =). Convert each
pair to a common denominator.’
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‘Order these fractions from largest to smallest.’
2 3 1

5 10 4
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'Order each set offractions from largest to smallest.’
E 7 5 3 a8 4 2

8 8 8 8 8 8 8

1 1 11
6 5 8 0 9
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problem, uwmg/px\oblemsob\»{ng/languag@— I know this because... 1
lound, thats.. Tf... then.. When .... This s .... So-.

‘Danny and Dev had identical bottles of juice. Danny
drank % of his juice. Dev drank % of his juice. Who
drank more of their juice?

Danny Dew
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Sorting:

‘Sort the pair of equations according tothe method you
would use to compare them.”
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Example:

Tf Danny drank % of his juice, then ke has % left”

1f Dev drank % of his fuice, then he has l— left.’

3 is less than %, therefore Danny has fess juice left.,

That means he drank more.’
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Fill in the missing symbols (<, = or =)
s() 4 s ()2
6 7 9 "

Reaklife contextual problems
“Sabijah and Will are in a running race. Sabijah has run

% of the race. Will has run g-ﬂf the race. Who is further

ahead?

Sequencing:

‘For each sequence, tick the correct box to show if the
fractions in each pattern are increasing, decreasing or

neither.’
Increasing  Decreasing Meither
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1 2 3 4
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Dang nao jin:

‘Order each set of fractions using the < symbol.’
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